MATH120 2021-2 Recitation Problems - Week 01

1. For the given sequence determine whether it is monotone and whether it is convergent. If convergent,
find its limit:
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2. Find the limit of the sequence if it is convergent and explain why if it is divergent:
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3. Let the sequence {a,} be defined by a1 =2 and a, 1 =

for n > 1.
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(a) Show that {a,} is bounded.
(b) Show that {a,} is decreasing.
(¢) Find lim a,.
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2. Find the limit of the sequence if it is convergent and explain why if it is divergent:
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3. Let the sequence {a,} be defined by a; = 2 and a,+1 = " forn>1.

(a) Show that {a,}
(b) Show that {a, }
(¢) Find lim a,.
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